(RN
<

= =

= F
o = L
= 8
& o 107
© S
107 i

1072

10’35—
.. B! EUOO I NP T T
T E A4 ]
O g - 1F e et ad e NNHEY B0 I
| S - H # l B 5 . 1
L - N . .
107 1 10 0? - 10° 107 1 10 0? - 10°
TP, (PCA t% beamllnef) TP, (PCA t% beamllnef)
—=— DQM_TT__mkFit-DQM_original-lowpt
—— DQM_TT__mkFit-DQM_updated-lowpt
£ £
e c
> 3
=) =
510t ©
1072k
107
1073
o .910\—1%: ....:I L1 ||! ..4:. il EEERTIT
T T F 1 T A4 ({4
0 d ad 1:_ """" Ry o-o':" "":“ """"""
0.95F-------- € A
0.0k :
107 1

2 3
TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


